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Used bo solve a ckss of Fm'o\c.ms

where each snstance has o size ( a nabural numlnr) .
Conskruct o solubion to instances of size O.
Assuminj thak it is Possi‘ale o consbruct solukions

bo insbances OP size n, consbruck a solubion ko

insbances of size n+l.
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Basis: O lines .




Thduckion sl’nP: n+l lines
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Triomino Problem
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Tower op Hanoi

Skake Transition —Diaﬁmm
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Move n disks From one Pole. to the next

— one at a kime
— 5o that o larger disk is never on ‘:ap
oP Q sma“c.r :‘?sk
Skale : suiue,nce of Po\es
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Basis: O disks

Tnduction SE&P: n+1 odisks

NG - a\is\\ N+l (\auraes\:) con on]:} be
moved Eo on em/0§ Po\e.

A'B —— A'C
B — B'A
C"A —— ("B

HjPoHnsis: assume bransibion diagmm o n disks.
} io\ml:ipj sbates A", B, C".
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2. Make 3 coPias, each with a different Posil:ion
for the (n+1) Eh  disk.
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3. Add the transitions Fov disk )
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